=

T B =2 B OB X 174
TERXS-TFE-FE5- M5 - 374 FH= BAfT HE |HEHE| FE
O AR LEE

NE AL = 1
RERRIAT (21 )LV ) EERRITRE m 213.94 214
oAl LA 3. 33+6. 41 m3 9.74 9.7
A - EH 3. 33+6. 41 m3 9.74 9.7
FROEELS BERRITRE & 2 2
¥ EHREELS BERRITRE & 13 13
IMESRRELS BERRITRE & 7 7
RHATVIRAME GERBUIET ARXE) BERRITRE m 64.38 64
£R%E BERRITRE = 1 1
E BERRITRE E28 1 1
EEEE R = 1 1

(Ln#E)
KT 0n& BERRETRE m3 3.33 3.3
AR - MR ST 0 & BERRITRE m3 6.41 6.4
JEREE T AR Z ML B (t=2cm) 64. 38%0. 02 m3 1.28 1.3

SRARAR IR = 1
EiR SRR T 12. 0%4. 4 m 52.8 53
7Rl &R 12. O%4. 4 m 52.8 53
A - E 12. 0%4. 4 m 52.8 53
AV )—MEEMEY ZHL (F#iCo) BERRETRE m3 48.1 48
A - EH (A7 Co) BERRITRE m3 48.1 48




I &5 H%H E # & % 274
ITERX5-TiE-125-H#5A0- 5F g Fix BAfT HE |REIABE| wE

(nn#)

AV )—rR 5 (B#RCo) 48. 1%x2.35=113.0 t 113.0 113
Eft (LREET) @BIE

V) —rMEEMEYZHL (B#HCo) BERRITRE m3 18.6 19
AV —MEEMEY ChHL (EFHCo) BERRITRE m3 12.8 13
A - EH (A . EHiCo) 18.6+12.8=31. 4 m3 31.4 31
(nn#E)

a9V )—ksx sy (BHRCo) 18. 6% 2. 35=43. 7 t 43.7 44
a9 —kE s (Ef5Co) 12.8%2.3=29. 4 t 29.4 29
(MHDE) *FTRTOFBEORRICEDLL *

R FE A G (8R<T) ANE—H1 BERRITRE t 1.11 1.1

OEE-SEHE

NERARIR

RER AR R T BERRITRE m 102 102
Al - BERRITRE m3 1.64 1.6
A - E BERRITRE m3 1.64 16
(%)

KT 0n& BERRITRE m3 1.54 15
ASZRLKT R E BERRITRE m3 0.1 0.1




I 5 $%H E # & % 3874
ITERX5-Ti-1250-H#58- 5Fig Fix BAfT HE |REIABE| wE

SRAKRAR IR

SRIRRREAT BERRITRE m 102 102

7l - BERRITRE m 102 102
A - E BERRITRE t 7.41 7.4
Ef (LREET) BIE

AV —MEEMEY CHL (B#HCo) BERRITRE m3 13.7 14

AV —MEEMEY ChHL (EFHCo) BERRITRE m3 17.6 18

A - EH (A . EHiCo) 13.7+17.6=31.3 m3 31.3 31
(n5n#E)

V) —ksE 5 (BfiCo) 13. 7x2. 35=32. 1 t 32.1 32

a9 —kE s (Ef5Co) 17.6%2. 3=40. 4 t 40.4 40
(MHDE) *FTRTOFEBEORRICEDLL *

T FE A AL (85<T ) ANE—HT t 7.41 74

OLRALIBRE (ARG, HEEET)

LRELERET

BERENERBEERE R¥EIZ&kD X 1 1

Al &R/ R#EIZLD =K 1 1

A - Bk R#IZ&D = 1 1
(nn#)

BERENEZBEELNE RHEIZ&kD X 1 1
(HE) *IRXRTOEBZEORRIZEDHLL *

T FEA S5 (85<T) R¥EIZ&kD X 1 1




I 5 $%H E # & % 474
ITERXS-TFE-FE5- M5 - 374 EH= BAfT HE |REIABE| wE
EEXT
fEHEl () LER#EHE (HBE. HEB HEFAEESER m3 14.32 14
BRL(RLEL) LERELIE (@5, HEE) MEHEESH m3 14.32 14
BRL(BEYIvvy—I2RC-40) LER#LHE (HBE. HEB HEHAEESE m3 102.32 102
av%1)—hEIFL (D35) 7 30 30
AV —MEEMEY ZHL (F#iCo) LAR4ELIE (H@fE. HEl) BEHEESER m3 13.58 14
A - EH (A7 Co) LERELIE (@8, HEE) BEHEESER m3 13.58 14
(n5n#)
V) —bEs (B #iCo) 13. 58%2. 35=31. 91 t 31.9 32
OHEEIRT
FARI7ILNGET
TEBBIt=22cm(BEYIvIv—IURC-40) (HEEIHERERSE m 250.5 251
FERREE T t=10cm (HIEFHERHEM-25) HEEIERFNSE m 308.5 309
KEt=4cm (FBERE T A3 20F) GEEINERRSE m 250.5 251
BEERUFiE 1808 & HEEINERFRSE m 42 42
bSviEdR (U-180R 053 SIEHR) 3t#k2. ot [:EHREERES. 7TkmiEE1[H S 15 15
BEERUFE 1808 R SHEEIERFRSE m 33 33
(nn#)
AV )—rZRE &N S5 (U-180%) 56. 6kg/m*42m/1000kg t 2.37 2.4




LERFERE (B8 - HEE) HEME

D=1 R (0. 44+0. 30)/2%0. 48=0. 177
0. 177%10. 2=1. 80m3
BRL 1. 80m3
rRx (BEYUZvYv—F2RC-40)

2. 0%0. 9%1. 66=2. 98m3
avy)—rEYEL
1. 26%0. 18%2%0. 53+2. 0%0. 18%2*%0. 53+0. 18%0. 53*2*0. 9+0. 3*0. 18%0. 9=0. 84m3

Q%:B1E Rl (0. 46+0. 30)/2%0. 5=0. 19
0. 19%15. 74=2. 99m3
HBERL 2. 99m3
rRL (BEYS5vv—F52RC-40)

4. 65%0. 9%2. 9=12. 13m3
vy —rEYEL
0.2%0.5%1.3%2+0.2%0.5%4.65%2+0.2%0.5%0.9%2+3.0%0.9%0.2=1.91m3

QLRSI R ((0. 454+0. 3)/2%0. 5+0. 7%0. 3)*25. 8=10. 25m3
BRL 10. 25m3
~Rx (B&EY7vv—752RC-40)
(1. 8%1. 840. 7%0. 94+0. 9%0. 9+1. 5%0. 9+1. 5%1. 84+1. 2%2. 9+2. 5%1. 84+2. 5%0. 9)
*4. 6=87.21m3

avy)—rERYEL 2. 95%4. 1x0. 2=2. 419
2. 4%0. 15%2%3. 4+1. 95%2. 4%0. 15%2=3. 852
2. 95%3. 4x0. 2=2. 006
(5. 15%3. 4— (0. 6%1. 5+0. 6%1. 4+0. 6x1. 1%2+0. 6%1. 8+0. 3x0. 3*3. 14*2) ]%0. 2=2. 56

=t 10. 83m3
DQR&E HEA 1. 80+2. 99+10. 25=14. 32m3
HBEREL 14. 32m3
rRE 2.98+12. 134+87. 21=102. 32m3

vy )—rERYEL 0.84+1.91+10. 83=13. 58m3



